PASSIVE VOICE

· Read the following text and fill in the blanks with the correct verb form.

FROM TREE TO PAPER
Paper …………………….. (invent) by the Chinese in the first century A.D. The art of paper-making ………………………… (take) seven hundred years to reach the Muslim world and another seven hundred years to get to Britain (Via Spain, southern France and Germany).

Most paper ………………… (make) from wood. When trees ………………. (cut down), they …………………. (transport) by land or water to paper mills. Here they ……………………… (cut up) and the wood …………….… (break up) into fibers, which are mixed with water and chemicals. Then this wood pulp ………………….… (dry) in a machine and …………………. (make) into paper.

Paper making is an important British industry, and paper from Britain …………………... (export) to South Africa, Australia and many other countries. Some trees used in the British paper-making industry come from trees grown in Britain, but wood is also imported from other countries such as Norway. One tree……………………. (need) for every four hundred copies of a typical forty-page newspaper. If half the adults in Britain each …………………… (buy) one daily paper, this uses up over forty thousand trees a day. Trees are being cut down faster than they are being replaced, so there may be serious paper shortage before the year 2050.

· Using the elements from the chart make true sentences.
	Rice

Oil

Coal

Ships

Cars

Wheat

Wool

Oranges

Gold

Paper

Wood


	is / are (not)
	Grown

Produced
Mined

Manufactured

Built


	in
	Japan

Sweden

Egypt

Brazil

Germany

Britain

The USA

Russia

Kenya

Etc.


